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The figures in the margin indicate full marks
for the questions

1. Choose the correct answer from the following
(any five) : 1x5=5
e | wE Sedwl aﬂi Terear
R e “fod) : |
(@) The most suitable average for

qualitative measurement is
@IS AR M ABRSIT AN TS W
(i) arithmetic mean
TZI Y
(i) median
TG
(iij) mode
I
(iv) geometric mean

wififes Wiy



(2)

(b) The sum of the deviations of the values
from mean is:

PR W IR RooFr 35 et on
M1
93
i) O
QU
(iii) more than one
T RR
(iv) less than one

G

(c) Which one of the following is the correct
example of primary data?
e IR PRGB! e SUR  wg
Tarzge 7

(i) Stock exchange
e R w
(i) RBI Bulletins
o8 e @ ey
(iii) Census reports |
e e
(iv) Book
et
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( 3)

(d) Which one of the follow‘ing is the
relative measure of dispersion?

oS il @FG @B RepoR SieiRes W2
(i) Quartile deviation
vods Reem
(i) Range
- S{f PR

(iii) Coefficient of standard deviation
e Roee 8IRT

(iv) Arithmetic mean
AES WY

fe) U 1y is positive, then the relation
between x and y is

3 HF yI T T
ﬂﬁrxy!ﬁﬂW@,C@C@x y

(i) when y increases x also increases

@fem y IG x © AW
(i) when y decreases x increases
afet y IW x AW

(iii) when y increases x does not
change

@fetl y AW 3 ARTET 7=

(iv) when y decreases x does not
change

@feal y IW x3 ARTET T
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( 4)

The relationship between

( 5

mean, (h) Which of the following is not a measure
median and mode is of central tendency? _
TS, T ST I AT A TN 75 e SEd I @ AN HRIOR T
(i) mode = 3 median - 2 mean peul]
TS AW -2 9% (i) Mean
(i) mode = 2 median - 3 mean )
A = 2 -
Y -3 7 (i) Median
(iii) mode = median - mean
I = TR~ o1
(iv) mode = mean - medijan (iii) Mode
TEE- = NG - qgy e
(iv) Standard deviation
e e
(9) The value which occyr
in a series is called S most frequently
R @it @bt Rrerers iy . . .
4 ] Bug i) If one variable is increasing and the
RS 1w o other variable is decreasing, then the
(i) range ::r;c;lation between variables is said
(i) <5l 5o I R T A ! oAt T
) m i 9. D
edian o T, (SR I PR TR FDTEF XS
pAiR|
(i) mode (i) positive
I NN
(iv) mean (ii) negative
TS YA
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(6) | (7))

(i) No correlation 1 (b) Write two disadvantages of census
I 7T 3 ‘ method over sample method.

(iv) None of the above | ;?::l R e e omfes ot SR
@ﬁ¢‘dm€:p§

(c) Find out the median from the following

() Which of the followin data :

' TR oY o[ R R 14w
, 10, 16, 5, 8, 12, 11
[T g (d) What is range? Calculate range from
" . ‘ . the following data : 1+1=2
(u):;;:n;‘:icmean ofP 57 SR S 1 AR S 74
.. 46, 57, 28, 65, 85 ,
(iii) Median |
BLipi| 5 (e) Distinguish between positive and
. . : negative correlation.
fiv) Geometric mean FNE OF WINT TR e N B
| BEIET Ty

() Give two properties of correlation
2. Answer the followi coefficient.
wi : .
(any five) : "€ Questions in short oo @lced ot GRiE fora
O] ﬁﬂzam X5=
PO B (R o oD -

(@) Write two merits of
investigation.

O e LT 13fo w51 g forat |

(g) Write two difference between SPSS and
direct personal Excel.

SPSS W& Exceld T&q 70! “iiday fort |
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3. Answer the following questions (any five) :

S5x5=25
e ful PR e B (R it 1170 I
(@) Discuss the characteristi
st ¢ eristics of a good .
S S AR WREPRE e |

(b) What is mode? Fin
the following datg :

Frequency : 5 10 18
LSS (COf

(c) Calculate mean deviati
: eviati
coefficient from median - on and

TR RS R Wi wwe e fidg

I
Marks .
20
No. of Students . g
. 12
RT-RT Y 20 10 6 4

(d) What is scatter dj
’ perfectly positiv. Sogram? Draw 5

€ correlati i
help of a scatter diagr a;tlon with the

o9 Ba R @b afid
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d out the mode from

6 9 12

its

5

L e

(e) What is
frequency polygon

{9)

the between

and frequency

difference

curve? Represent the following data
with the help of a frequency polygon :

1+4=5

IRAQTS IS g ITR[ST @ERF ST
i Bordl | o SRR *[1 @Bl IR

e TorEeH 4 .
Class interval 10-20 20-30 30-40 40-50 50-60
et e ,
Frequency : 10 22 15 10 25
FJITS
() What is sampling? Discuss sampling -

(9)

and non-sampling errors. 1+4=§

ofor B9 ofeem we w-afeerm Sz
AT P

State four characteristics of a good
average. Which measure of central
tendency is most representative? 4+1=5

<51 oef aree Bift Y il il agfes

| (ORERT @I wibReE affiigyes 2

(h)

Marks
759
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Calculate the quartile deviation and its
coefficient from the following data : 4+1=5

woe Tl SR ot 5ede o wie Te
g ffy w11 .

5 10 20 25 40 42 45 48 70 80 85
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( 11 )
{ 10 )

in the
various steps in

: ire and
(c) Discuss the a questionnair

: f 5+5=10
tion O _
. . . prepara
. lain, in brief, the different sources T dule. . -
o cl;:;{zecondary data, 5 sc — - —
oM S Ry s R S—— o W SR =i |
] sy s qxl. Tl

ollowing questions : 10

) * k *
wmﬁmmmﬁm:

) () Fing out the Coefficient of
Correlation from the following data: 5

Wwﬁﬁawmwwﬁﬁnw:

7S 88 95 70 60 go 81 50

gression, Mention two
d

two advantageg of
regression analysig, 1+2+2=5

| W%WWIW‘TWW@

\} |
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